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Instructions

@® Use black ink or ball-point pen.
® Fill in the boxes at the top of this page with your name,
centre number and candidate number.
@ Answer all questions.
® Answer the questions in the spaces provided
— there may be more space than you need.
@ Calculators may not be used.
@ Diagrams are NOT accurately drawn, unless otherwise indicated.
® You must show all your working out.

Information
® The total mark for this paper is 80
® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

@ Read each question carefully before you start to answer it.
® Keep an eye on the time.

@ Try to answer every question.

® Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

1 Change 530 centimetres into metres.

S-“ 3 ___ metres ‘

_____(Total for Question 1is 1 mark)

1
2 How many minutes are there in 32 hours? ‘
3xbo+ L ybo
L+ - 4
= (R0 + IS
a5 minutes
= (Total for Question 2 is 1 mark)
3 Write 4.4354 correct to 2 decimal places. =
....... .ot |3
- § (Total for Question 3 is 1 mark)

4 Write 0.9 as a percentage.

__ (Total for Question 4 is 1 mark)
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5 Work out (-3)

-A vy -2 =3

et 5

~ (Total for Question 5 is 1 mark)

= 6 Here are four cards.
There is a number on each card.

(a) Write down the largest 4-digit even number that can be made using each card only once.

,
= (2)
j ' (b) Write down all the 2-digit numbers that can be made using these cards.
4-S Sy L Ly
“ T §$2 L5 \' S
o § 1 2L \
(Z)

~ (Total for Question 6 is 4 marks)
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(Total for Question 7 is 4 marks)
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8 Bernard says,

“When you halve a whole number that ends in 8, you always
get a number that ends in 4”

(a) Write down an example to show that Bernard is wrong.

Alice says,
“Because 7 and |7 are both prime numbers, all whole numbers that end in
7 are prime numbers.”

(b) Is Alice correct?
You must give a reason with your answer.

(1)

9 Work out 247 x 63

24 7
L3

N

7Y
‘4220

IS S6I

~ (Total for Question 9 is 3 marks)

 (Total for Question 8 is 2 marks)

NO - 1 EAN W 7T RoT. AxR2=11 . S 27\

(556
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10 An American airline has a maximum size for bags on its planes.
The diagram shows the maximum dimensions.

height
22 inches

\:W ‘{i;pth
14 inches 9 inches

Chris has a bag.

It has
height 50cm
width 40 cm
depth 20cm

1 inch =2.54¢m

Can Chris take this bag on the plane?
You must show your working.

N
V\

“

RATH . IH % 2. S2pecpn e :hL
= 3§Sé>6m ZS- o
.-._-_-_-—__

S35 g7

"4_ GHUS IS T ALiopEd 73 roee —ZFIS Pﬁq
CBecpss THE AtosancE IS B .5bean And  HIS

pe Is HOwm |

(Total for Question 10 is 3 marks)
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11 Complete the two-way table.

blue eyes brown eyes = green eyes total
boys 5 2 4 12
“ girls - lo | 7 - 5" | {Q
total [ e 9 30

(Total for Question 11 is 3 marks)

12 There are 28 red pens and 84 black pens in a bag.

Write down the ratio of the number of red pens to the number of black pens.
Give your ratio in its simplest form.

28 ¢ 2 ¢
+1 ¢

4 172
-'.—+(5f

3

(Total for Question 12 is 2 marks)
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13 Here is a sequence of patterns made with grey square tiles and white square tiles.

pattern number pattern number pattern number
1 2 3 :
6 2

(a) In the space below, draw pattern number 4 >

(1)
(b) Find the total number of tiles in pattern number 20

2w &0 + 2 o

U2
(2)
(c) Write an expression, in terms of n, for the number of grey tiles in pattern number #.
—_——

3 4 5

(2)

_(Total for Question 13 is 5 marks)
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14 A unit of gas costs 4.2 pence.

On average Ria uses 50.1 units of gas a week.
She pays for the gas she uses in 13 weeks.

(a) Work out an estimate for the amount Ria pays.

10 x4 x So - aQoOop: e
> > '

t2o
(20 E%)‘S}

(b) Is your estimate to part (a) an underestimate or an overestimate?
Give a reason for your answer.

oy B Nee Enert NOMRR Has [asy  Rooged

(1)

(Total for Question 14 is 4 marks)
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15 This is a scale plan of a rectangular floor.

Diagram =)

accurately :

drawn N

2 C?C«M :_‘:—‘id_

T 7 Pen, J
- Sean = 28am

Scale: 1 cm represents 2m
Mrs Bridges is going to cover the floor with boards. =3

Each board is rectangular in shape.
Each board is 1.2m long and 1 m wide.

Mrs Bridges has 150 boards. :
Does she have enough boards? =
You must show how you get your answer.

Noeps 20 Qauds PR LEnCTH  fince Loxtd = Wan | =

[ 14 @AW foves Bo odc] W12 = 12 Run LHIH S
NOT CAVCR)

NI ER

Nats RS Bams PR Ly A7
NEEN 90 = 6o [beands

Mils fhdces DES NO7 Havs  ENOVCIH

f ”
(Total for Question 15 is 3 marks)
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16 2cm

10cm bxl = \2¢ o
'2)(1 o] —1 | ( O
= 200 i 2em
1 []
8cm
Work out the area of the shape.
2041 = 32
- ) B (Total for Question 16 is 2 marks)
17 VA
1. ~5
s - 4 —
2 =, 3 s
== - . 2 X - s
- 'l =

“1-

On the grid, rotate the triangle 90° clockwise about (0, 0).

(Total for Question 17 is 2 marks)
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18 There are 500 passengers on a train.

7 : "L e . =
2—Oofthe passengers are men. %D\cS'OOZ J’:?Jx@.. x2S = 1S

40% of the passengers are women. HO, x SO = HoxS = 200
100
The rest of the passengers are children.

Work out the number of children on the train.
200+ = RS
Seo -~ B8 = 257

__(Total for Question 18 is 3 marks)
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19 A shop sells milk in 1 pint bottles and in 2 pint bottles.

Each 1 pint bottle of milk costs 52p.
Each 2 pint bottle of milk costs 93p.

Martin has no milk.

3 : :
He assumes that he uses, on average, 3 of a pint of milk each day.

Martin wants to buy enough milk to last for 7 days.

(a) Work out the smallest amount of money Martin needs to spend on milk.
You must show all your working.

Fon 1 DAMS He NeEdsS G{ij = ZL - S_’ffp PMWI"
w

MUST 0 6 PATS

Q@oud Ruv . R 2 PATs . Bx G3p = Vol M =

L 1 AT L b x$2p = £3 v

Martin actually uses more than % of a pint of milk each day.

(b) Explain how this might affect the amount of money he needs to spend on milk.

HE MugHT See vis Lay THAY (. PATS. WHICH Meps HE
s SPENN  THE SAME . TE HE BT Mo THAN o DTS

o He  Piee  SBEnd LS L

(Total for Question 19 is 4 marks)
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20 The diagram shows a right-angled triangle.

Tx 5x+ 18

All the angles are in degrees.

Work out the size of the smallest angle of the triangle.

Tt S+ a0 = \R O
S W22 4+ 108/

. 1) o0

\2 O

(l

2
S

fi

T L

I

Tl T b = 2
Sacd@ = Sxb+id= Uuh .

21 A box exerts a force of 140 newtons on a table.
The pressure on the table is 35 newtons/m?.

Calculate the area of the box that is in contact with the table.

5 = “-PQ

B —

,4\_
r’,/lr:lLPO:u,
Y

&
P=7
p = pressure
F = force
A = area

_(Total for Question 20 is 3 marks)

~ (Total for Question 21 is 3 marks)

Pearson Edexcel Level | /Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set | - September 2015 © Pearson Education Limited 2015



-

22 There are only red counters, blue counters, green counters and yellow counters in a bag.

The table shows the probabilities of picking at random a red counter and picking at
random a yellow counter.

Colour red blue | green @ yellow |
| Probability 024 (.77 0.2%7 032
The probability of picking a blue counter is the same as the probability of picking a green
counter.

Complete the table.
0. 14+ 0-32 = 0
(— 0 - S6 = U

O.udd _ D,
—= = e
) ~ (Total for Question 22 is 2 marks)

YA

23 A pattern is made using identical rectangular tiles.

]cm,‘1 5'

hN—

—ag—

)

Find the total area of the pattern.

b= A O ﬂf_?(.fmnmf I HAxB= [Bos™

For W ReCTAXLES HxlD = LR Vv

~ (Total for Question 23 is 4 marks)
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24 The diagram shows a sand pit.
The sand pit is in the shape of a cuboid.

Sally wants to fill the sand pit with sand. 40cm
A bag of sand costs £2.50

There are 8 litres of sand in each bag.
Sally says, bt
“The sand will cost less than £70”
Show that Sally is wrong. | 2
Vowme  oF Sans PT= 20 x 100 60

- CD’ L” 0000 C(V\Q

U LT = (000ens .\ Vv E= 9wy ¢
& i /\)EFD ,QLPO - Bo @45. |

%

bsT= Box £2.50 = £TS

TRV T

NIy
g O F |

o SAUA IS N TEE SAsd Cafre
MO 7Han  £E0

(Total for Question 24 is Smarks) | =
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25 Four friends each throw a biased coin a number of times.
The table shows the number of heads and the number of tails each friend got.

Ben Helen Paul | Sharif

heads | 34 66 | 80 | 120 = RBov
tails | 8 2 | 40 | 40 (OO

<% 72 20 lbo o)
= The coin is to be thrown one more time. g
: (a) Which of the four friends” results will give the best estimate for the probability that
~ the coin will land heads?

- Justify your answer.

SHAMF — HE THE> THE CGud MET TIME® e

_  IbesT NuvBR of TRAeuss
¥ (1)
i‘ Paul says,
& “With this coin you are twice as likely to get heads as to get tails.”
j (b) Is Paul correct?
’?: Justify your answer.
, B0 2

S P Paus pam o Hes = 3 fAne IS

i
—

The coin is to be thrown twice.

(c) Use all the results in the table to work out an estimate for the probability that the coin
will land heads both times.

PR = 3

. n, « 3, = A
ro 7 = —
W L Ll ,?(fa’

(2)

(Total for Question 25 is 5 marks)
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26 (a) Write down the exact value of cos30°

(b)

12¢cm
xcm

30°

Given that sin30° = 0.5,
work out the value of x.

SIAn2D = N
\FL-
,/ AL = [2sin 30

— ))
= ‘2\.(/"2’

27 Expand and simplify (x+ 3)(x—1)

W= A+ B — 3

= W+ =1

(Total for Question 27 is 2 marks)

__(Total for Question 26 is 3 marks)
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28 Factorise x*—16

o)

(Total for Question 28 is 1 mark)

29 Solve the simultaneous equations

dx+y=25 %3
x-3y=16

129434=77S .

(3¢ = Ay
="
NN +~3 =25
l%fj = L8
Y=-3

s 1 Y=o o S

(Total for Question 29 is 3 marks)

TOTAL FOR PAPER IS 80 MARKS
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